03 04 01

G
13,240 13,150 o | 90| 0 0.67
®3 ) (RO5 ) ®R07 )
H31-RO5  RO6-R1O 31% RO3 83% RO7 RO6
3% 48% 834
13% RO3 100% RO7
134 504 100%




R03 |R04 [RO5 [RO6 [RO7

A07-001 [ I B A B | 50
A07-002 [ I B A B | 50
A07-003 LI I 3,000
A07-004 " == 783
A07-005 [ I B A B | 40
A07-006 u 50




R03 |R04 [RO5 [RO6 [RO7

A07-007 [ I B A B | 20
A07-008 [ I B A B | 40
A07-009 [ I B A B | 20

[ 1] 4,053
A07-010 [ I B B 172
A07-011 ] ] ] ] 1,075
A07-012 [ I B B 667




R03 |R04 [RO5 [RO6 [RO7

[ 1] 193]
A07-013 ] ] ] ] ] 5,298
A07-014 [ BN BN B B 100
A07-015 [ BN BN B B 100
A07-016 L BN B B 420
A07-017 | I | 160
A07-018 No.2 | I | 105




R03 |R04 [RO5 [RO6 [RO7

A07-019 " == 50
A07-020 [ N B R 500
A07-021 [ N B R 200
A07-022 u 200
A07-023 " == 50

[T T [ 7=

13,150|




R03 |R04 [RO5 [RO6 [RO7

cor-001 T[] %
co7-002 T[] %
07003 T[] %

| L[] 0]




RO3 RO4 RO5
@ 401 329 806

) 0 0 0

(c=a+h) 401 329 806
() 174 374 249

e) 201 454 783

) 374 249 272

@ 0 0 0

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 0 0
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